Use inverse functions to find an angle

Maths

Mrs Dennett
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Use inverse functions to find an angle

1. Fill in the blanks. Give final answers

to one decimal place.

a)

3cm

O
0 sin® = =
» O
5cm 0 =sin"1=
O
0=
O
cosO ==
4 cm D D
O =cos™ 1=
O
5cm 0 =

3cm

4 cm

tan© =
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Use inverse functions to find an angle

2. Calculate the size of the labelled

angles to one

85cm

~

5 b) Explain the mistake that he has made
n, and correct his answer.
‘ 9
® /9cm cosO = 1z
4 cm 9cm

3. Here is Jordan’s method to find the
decimal place.

missing angle, O.
4 cm

O =cos™ 1 —

12
0 = 41.4°
10 cm
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Answers
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Use inverse functions to find an angle

1. Fill in the blanks. Give final answers

to one decimal place. 4 cm 3
a) 3 C) tan © =Z
2] sin® = = o
5 0 tan‘“‘3
3 3 - 2
scem 5cm 0 = sin™?! £ - 4
0= 369°
0 = 36.9°
4
) . cos® =z
4
0 = -1_
COoSs 3
5cm 6 = 369°
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Use inverse functions to find an angle

2. Calculate the size of the labelled
angles to one decimal place.

4 cm
IIIIIIII...» © /o9cm
cm- 552 26.4°

85cm
&
10 cm N/ O
49.6° 16.6°
4cm

3. Here is Jordan’s method to find the
missing angle, O.

Explain the mistake that he has made
and correct his answer.

cosO = —
9cm 12
0= -1
cos v
0 = 41.4°

He used cos rather than sin.

O = 486°
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